

BRUHAT BANGALORE MAHANAGARA PALIKE

No.EE (H)/TEND/ 13/2012-13

Office of the Executive Engineer Hebbal Division, Corporation Offices, Queens Road, Bangalore – 560052 Dated: 08-03-2013.

INVITATION FOR TENDER

(Only through E - Tendering)

- 1. The Executive Engineer (Hebbal), BBMP, Bangalore invites tenders from eligible Contractors registered in Bruhat Bangalore Mahanagara Palike equivalent registration with CPWD / KPWD / Railways / MES/National Highway or any State Government Organizations for the construction of works detailed in the table below. The tenderers may submit tenders for works given in the table through E Tendering (viz www.tenderwizard.com/bbmp).
- 2. Last date for Receipt of Application for Tender Document 14-03-2013 up to 4.00 PM and As per Circular No CFO 31 / Training / 2010 dt: 03-09-2012 the intending contractors may download the application forms by log on to BBMP E-Tender Portal. The Payment for tender forms may made over through the internet using the Credit Card / Debit Card or through RTGS Challan system by downloading from E-Tender Portal.
- 3. Tender documents may be downloaded from the website: www.tenderwizard.com/bbmp from 15-03-2013.
- 4. Tenders must be accompanied by Earnest Money Deposit specified for the work in the table below. Earnest money deposit will have to be in any one of the forms as specified in the Tender document and shall have to be valid for 45 days beyond the validity of the tender.
- 5. Tenders must be submitted online through E- Tendering on or before 16-00 hours on **22-03-2013** and the opening of tenders will be on **22-03-2013** at **4.30 PM if possible, otherwise next working day at 11.00 AM.**
- 6. Other details can be seen in the tender documents.

S1. No.	Ward No	Name of the Work	Approxima te value of work (Rs in Lakhs)	EMD (in Rupees)	Cost of Tender Documents in Rs.Inclusive of VAT (Non- Refundable)	Period of Completio n (Months)
1	34	Construction of individual houses for BCM benefiaciaries Block 6 Lakshmidevamma block in ward No 34	3.00	7500.00	1140.00	90
2	34	Construction of individual houses for BCM benefiaciaries Block 1 Lakshmidevamma block in ward No 34	3.00	7500.00	1140.00	90
3	34	Construction of individual houses for BCM benefiaciaries Block 2 Lakshmidevamma block in ward No 34	3.00	7500.00	1140.00	90
4	34	Construction of individual houses for BCM benefiaciaries Block 3 Lakshmidevamma block in ward No 34	3.00	7500.00	1140.00	90

5	34	Construction of individual houses for BCM benefiaciaries Block 1 CPV block in ward no 34	3.00	7500.00	1140.00	90
6	34	Construction of individual houses for BCM benefiaciaries Block 2 CPV block in ward no 34	3.00	7500.00	1140.00	90
7	34	Construction of individual houses for BCM benefiaciaries Block 5 LD block in ward No 34	3.00	7500.00	1140.00	90
8	34	Construction of individual houses for BCM benefiaciaries Block 7 LD Block 4th main in ward 34	3.00	7500.00	1140.00	90
9	34	Construction of individual houses for BCM benefiaciaries Block 4 Lakshmidevamma block in ward No 34	3.00	7500.00	1140.00	90
10	34	Construction of individual houses for BCM benefiaciaries Block 11st F main road in gangenahalli in ward no 34in ward No 34	3.00	7500.00	1140.00	90
11	34	Construction of individual houses for BCM benefiaciaries Block 2, Gangappa block 2, in ward no 34	3.00	7500.00	1140.00	90
12	34	Construction of individual houses for BCM benefiaciaries Block 1 gangappa block in ward no 34	3.00	7500.00	1140.00	90
13	34	Construction of individual houses for BCM benefiaciaries Block 1, 4th main road ganganagara extension in ward no 34	3.00	7500.00	1140.00	90
14	34	Construction of individual houses for BCM benefiaciaries Block 1, matadahalli further extension (Nrupathunga layout) in ward no 34	3.00	7500.00	1140.00	90
15	34	Maintainance of existing sub mersible pumps and electrification works instaled by BBMP 7 nos in Ward No. 34	2.00	5000.00	1140.00	60
16	34	Providing and laying pipe line in Ward No. 34	3.00	7500.00	1140.00	30

17	34	Providing watersupply and sanitary works and UGD line in Corporation school and surrounding area in Ward No. 34	2.00	5000.00	1140.00	30
18	34	Providing covering slab over existing drain at Nrupathunga Badavane in Ward No. 34 ch: 0.00 to 35.00mtrs	2.00	5000.00	1140.00	30
19	34	Providing and constructing SSM wall at Vulnerable reaches at 1st main towards east L.D. Block in Ward No. 34	2.00	5000.00	1140.00	30
20	34	Providing and constructing SSM wall at Vulnerable reaches at 1st main L.D. Block in Ward No. 34	2.00	5000.00	1140.00	30
21	34	Providing M.S. Gate and Safety Grill at Dr. Ambedkar Nagara Slum in Ward NO. 34	1.61	4030.00	1140.00	30
22	34	Construction of pond arround tree by solid blocks at MLA Layout in Ward No. 34	1.00	2500.00	1140.00	30
23	34	Construction of pond arround tree by solid blocks at Taralabalu Road in Ward No. 34	1.00	2500.00	1140.00	30
24	34	Construction of pond arround tree by solid blocks at RT Nagar main road in Ward No. 34	1.00	2500.00	1140.00	30
25	18	Construction of pond around the tree by Solid blocks at Sanjaya Nagara main road from Radhakrishna Temple to Nagashetty Halli bus Stop in W- 18	1.00	2500.00	1140.00	30
26	18	Construction of pond around the tree by Solid blocks at Dollars Colony 3rd Main Road in W-18	1.00	2500.00	1140.00	30
27	18	Construction of pond around the tree by Solid blocks at Dollars Colony 2nd Main Road in W-18	1.00	2500.00	1140.00	30
28	19	Construction of pond around the tree by Solid blocks at Postal Colony Layout in W-19	1.00	2500.00	1140.00	30

29	19	Construction of pond around the tree by Solid blocks at AECS layout and RMS Layout in W-19	1.00	2500.00	1140.00	30
30	19	Construction of pond around the tree by Solid blocks at Teacher Colony and Yajamanappa Layout in W-19	1.00	2500.00	1140.00	30
31	19	Construction of pond around the tree by Solid blocks at Central Exsise Layout Cross Roads in W-19	1.00	2500.00	1140.00	30
32	19	Construction of pond around the tree by Solid blocks at 1st Main and 60ft road Kalpanachowla Road in Central exsise Layout inW-19	1.00	2500.00	1140.00	30
33	19	Construction of pond around the tree by Solid blocks at UAS layout and New Extension Bhoopasadra Layout inW-19	1.00	2500.00	1140.00	30
34	20	Construction of pond around the tree by Solid blocks at Bhoopasadndra Road to 60ft Road in W-20	1.00	2500.00	1140.00	30
35	20	Construction of pond around the tree by Solid blocks at Dr. Rajgopal Road (From Bellary Main Road) in W-20	1.00	2500.00	1140.00	30
36	20	Construction of pond around the tree by Solid blocks at HMT Layout Cross Roads (Block B) in W-20	1.00	2500.00	1140.00	30
37	20	Construction of pond around the tree by Solid blocks at HMT Layout Cross Roads (Block C) in W-20	1.00	2500.00	1140.00	30
38	20	Construction of pond around the tree by Solid blocks at HGH Layout in W-20	1.00	2500.00	1140.00	30
39	18	Providing name boards at Lottegolla Halli in Ward No. 18	2.00	5000.00	1140.00	30
40	18	Providing name boards at RMV 2 nd Stage in Ward No. 18	2.00	5000.00	1140.00	30

- 1. The Earnest Money Deposit (EMD) shall also be paid through internet as said at Para no 2 above.
- 2. Aspiring bidders / contractors who have not obtained the user ID & Password for participating in Electronic Tendering (E-Tendering) in Bruhat Bangalore Mahnagara Palike , may obtain the same from the website www.tenderwizard.com/BBMP through link "Register Me".

- 3. In case of E-tendering Tenderers have to access tender documents on the website, fill them and submit the completed tender document into electronic tender on the website itself.
- 4. The Bidders/Contractors shall attach Scanned copies of all the required Documents /certificates pertaining to tender. Failing which their tenders will be disqualified.
- 5. Certified Xerox copy of the valid Registration Certificate should be produced at the time of Agreement.
- 6. As per Special Commissioner (Project) Circular No. ION/PR/(1)/08/07-08, Dated: 16-10-2007, and Engineer in Chief Order No: EIC/EC/PR/606/07-08, Dated: 24-09-2007. The following conditions as stipulated in the tender, "The amount quoted by the tenderer is less than the tender amount, such tenderer shall remit the difference amount before signing the Agreement, in the form of DD in favour of Executive Engineer (Hebbal), B.B.M.P. This difference amount will be returned after, satisfactory completion of the work only.
- 7. For any clarification of Electronic Tendering or Request for Electronic Tendering Training, can contact Executive Engineer (Hebbal Division), BBMP Ph No. 080-22342421 Or KEONICS Manikanta 9008007218, Ramu G 9945266022, 080-40482000.
- 8. Any other details regarding the works & other information can be obtained from the above office during office hours.

Sd/-Executive Engineer Hebbal Division Bruhat Bangalore Mahanagara Palike

Copy Submitted to:

- 1. Worshipful Mayor for kind information
- 2. Hon'ble Deputy Mayor for kind information
- 3. Commissioner for kind information
- 4. Special Commissioner (Project) for kind information
- 5. Engineer-In-Chief for kind information
- 6. Joint Commissioner (East) for kind information.
- 7. Council Secretary to bring it to the notice of Standing Committee Ward Level works BBMP.
- 8. Chief Engineer (East) for kind information
- 9. Chief Accounts Officer for Kind Information.
- 10. Chief Auditor for Kind Information.
- 11. District Commissioner & District Tender Bulletin Officer, Bangalore District, Revenue Complex, K.G. Road, Bangalore-560009 along with Soft Copy for further needful action.
- 12. Public Relation Officer to publish the Notification in daily leading Kannada & English News Paper.
- 13. I.T. Advisor along with soft copy to Publish in the BBMP Website.
- 14. Copy to the Accounts Superintendent.
- 15. Copy to the Karnataka State Electronics Development Corporation Ltd (KEONICS) for information and further needful action.
- 16. To Notice Board.
- 17. To Office File.

Executive Engineer Hebbal Division Bruhat Bangalore Mahanagara Palike